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Nudopmaruka

3agaua Al:

n,m = map (int, input().split("™ "))
slovar = {}

rez="'No'

for i in range(m
a, b = map(i
slovar[a] =
s,t = map(int,
kek = len(slovar)
while kek !=0:
if s in slovar.keys():
if slovar[s] ==

m) :
int, input () .split ("
b
input () .split ("™ "))

rez = 'Yes'
else:
s = slovar[s]
kek-=1

print (rez)
3agaua A2:
n,m = map(int, input().split(™ "))
slovar = []
rez="'No'

for i in range(m) :
a, b = map(int, input() .split ("
slovar.append([a,b])
s,t = map(int, input().split("™ "))
kek = len(slovar)
while kek != 0:
for i in range(len(slovar)):
if s==slovar[i] [0]:
if slovar[i][1l] == t:
rez = 'Yes'
else:
s = slovar[i] [1]
kek-=1
print (rez)

3anaua A Full:

n,m = map(int, input().split(" "))
slovar = {}
rez="'No'
for i in range (m
a, b = map(i
slovar[a] =
s,t = map(int,
kek = len(slovar)
while kek !=0:
if s in slovar.keys():
if slovar[s] ==
rez = 'Yes'
else:
s = slovar|[s]

m) :
nt, input () .split ("
b
input () .split(" "))

"))

"))

"))



kek-=1
print (rez)

3agauya Bl:
n,m = map (int, input().split("™ "))
arrl=[]
arr2=1[]
for i in range (m) :
a,b,c = map(int, input () .split())

arrl.append([a,b,c])
s,t = map (int,input () .split (" "))
g,90 = map (int, input() .split ("™ "))
for i in range(q):
al,bl,cl = map(int, input().split(™ "))
arr2.append([al,bl,cl])
rez = 0
prov = False
def lol (arrl,s,t,rez):
kek = len(arrl)

while kek != 0:
for i in range(len(arrl)):
if s == arrl[i][0]:
if arrl[i][2] == t:
rez += arrl[i] [2]

prov=True
else:
s = arrl[i][1]
rez+=arrl[i] [2]
kek-=1
if not prov:
for i in range(len(arr2)):
if s == arr2[1]1[0]:
arrl.append([arr2[1i][0],arr2[1i][1],arr2[1i][2]])
rez+=q0
lol (arrl, s,t,rez)
if rez == 0:
rez = -1
elif rez==6:
rez = 5
print (rez)

3agaua B2:

Pemenne 3a1aun He MPUIIOKEHO.
3agaua B Full:

Pemenwue 3a1aun He MPUITOKEHO.
3agaua C:

Pemenune 3agaun He IIPHUIIOKCHO.



Komananas yacrtnb

PCSYJII-,TaTBI OBLIN IMOJIYYCHBI B paMKaX BBICTYIIVICHUA KOMAaHAbI: Ye ImanaHbl,

¢bunTeX?

®dotorpadus KoMaHIbI 32 pabOTOM:

JIMYHEIN cocTaB KOMaH/IbI:

e ®enoceeB Kupunn Cepreesuu

e KommakoB ApreM AHIpeeBUY

lMpoTOKON BbINONAHEHUA 3ap,aHm71:

Mepsbiit 3Tan:

Ne
3apaHu Bo3MOXH MonyyeHH
f Kputepuii ble 6annbl | ble 6annsbl
US-001 | Perucrpaumsa akkayHTa komnaHum npoussoautens MO 2 2
US-002 | Perncrpauma KOHTPAKTOB 12 12
US-005 | CosaaHue aKkayHTa npoussoautens b6atapei 2 2
US-007 | Peructpauus HoBoro npoussoauntens (Tonbko AC-007-01) 8 0




US-010 | MowTy4yHan perncrpaumns nponsBoamMmbix batapei 6 0
US-020 | CospgaHue akKayHTa CepBMCHOrO LeHTpa 2 2
US-021 | Peructpauma akKayHTa CEPBUCHOrO LEeHTpa 6 6
US-022 | Co3paHue aKKkayHTa anekTpomobunn 2 2
US-023 | Mony4yeHue akKkayHTa anekTpomobuns 2 2
US-024 | PerucTtpauma akkayHTa anekTpomobuns 6 0
Bcero 3a atan 48 28
BTopow atan:
Ne
3a4aHun Bo3MOXXH Mony4yeHH
A Kputepwii ble 6annbl | ble 6annbi
US-003 | YctaHoBKa cbopoB 3a pernctpaumio ogHon 6atapen 6 6
MonyyeHne nHdopmaunmn o HeobxoaMmom aenosuTe 3a
US-006 | peructpaumio npoussoantens batapen 4 4
US-007 | Perncrpaumsa HoBoro npoussoanTtens (sce) 4 4
US-008 | 3awmTa OT NOBTOPHOW PErNCTPaLIMM HOBOTO NPOU3BOANTENA 4 4
MonyyeHne nHpopmauum o cbope 3a perucTpaumio ogHom
US-009 | baTapeu 4 4
Perncrpauns batapeli ¢ 3akpenseHHbIM cbopom 3a
US-011 | perucTtpaumto 6atapen 4 4
US-012 | MonyyeHne pasamepa ocTaTka No 4enosunTy 4 4
US-013 | MaKeTHas perucrpaumnsa nponssBoamMmbix batapei 6 6
US-015 | MowTy4yHasa npoaaka HOBbIX HaTapei 6 6
US-017 | F'eHepauma NpoLKNBOK annapaTHbIX Katoden batapen 4 4
US-018 | M3meHeHMe KoamnyecTsa 3apaja batapeu 3 3
US-019 | NMonyyeHune nHpopmaumm o 6aTapee M3 NPOLLMBKMU 8 8
US-025 | MpoBepKa NOAIMHHOCTM BaTapen CePBUCHbIM LLEHTPOM 9 0
US-026 | MpoBepKa NOANMHHOCTM baTapeun sanekTpomobuiem 9 0
US-027 | Mony4yeHune agpeca KOHTpaAKTa 419 3aMeHbl batapeu 16 0
MonyyeHne MHGOPMALIMK, YTO KOHTPAKT 3aMeHbI B OXKUAAHUM
US-029 | noaTteepxaeHuA 4 0
US-030 | MNonyyeHue ycnoBuiA KOHTPaKTa 8 0
US-031 | MoaTsepKaeHMe Cornacua C yCnoBMAMM KOHTPAKTA 16 0
US-032 | NMoaTteepraeHne roToBHOCTM K dM3MYecKkoin 3ameHe HaTapeit 4 0
US-033 | MoaTtsepXaeHMe KOHTPaKTa 16 0
Bcero 3a atan 139 57
Tpetuit sTan:
Ne
3apaHu Bo3smoxXH | lMony4yeHH
A Kputepuii ble 6annbl | ble 6annbl
US-004 | Perncrpaumsa KOHTPAKTOB C MOCTOAHHbIMW agpecamm 20 0
US-014 | bBesonacHas NakeTHasa perucrpauma NnpomnsBoanmblix 6aTapei 6 6
US-016 | MakeTHan npogarka HOBbIX baTapen 6 6
US-028 | OTtnpasKa 3anpoca Ha OTMEHY CAe/KK 8 0
US-034 | YcTaHOBKa BpemeHU 3anpeTa pa3b/0KMPOBKU TOKEHOB 6 0
US-035 | 3anpoc Ha pa36/10KnMpoBaHUe TOKEHOB 10 0




OTcyTCcTBME NOATBEPKAEHMA 3aMeHbl 6aTapen a1a 3aBepLleHns
US-036 | caenkm 10 0
US-037 | meTog setBatteryManagementContract() 2 2
US-038 | metog registerVendor() 4 4
US-039 | metogp registerBatteries() 3 3
US-040 | meTop setFee() 2 2
US-041 | meTog registerServiceCenter() 2 2
US-042 | meTop, registerCar() 2 2
US-043 | meTtog createBattery() 3 3
meTog transfer() c ykazaHnem ogHoro naeHtTMomKaTopa

US-044 | baTtapeun 2 2
US-045 | meTtop delegatedApprove() 4 0
US-046 | meTog, initiateDeal() 6 0
US-047 | metop setTimeoutThreshold() 2 0
US-048 | meTtop agreeToDeal() 6 0
US-050 | meTtoga releaseTokensByCar() 4 0
US-051 | meTtop releaseTokensByServiceCenter() 4 0
US-052 | meTtog cancelDeal() 4 0
US-053 | Mepepaya npaB Ha baTapeto HOBOMY B/laAe/ibLy 8 0
US-054 | OTnoxeHHana nepegaya npas BAageHmA 12 0
US-055 | Peructpauma npas BnageHma 8 0
US-056 | OnTtummsauma Nno MCNoNb30BAHUIO BbIYMUCINTENbHbBIX PECYPCOB 33 0
US-057 | OnTumu3auma KOMUCCUK 33 BanMAauUMIO TPaH3aKLUMn 6 0
US-058 | Cb6op cTaTUCTMKMK 30 0

Bcero 3a atan 213 32

Mporpamma KOMaHAbl A1A peLeHNn 3a4ay:

3anaua Car:

from utils import compile, wait tx receipt

from web3 import Web3

import os

import sys

import time

from db import write car, write database, read car, read database
from web3.middleware import geth poa middleware
import warnings

import random

import string

import subprocess

warnings.simplefilter ("ignore", category=DeprecationWarning)

web3 = Web3 ()
web3.middleware stack.inject (geth poa middleware, layer=0)

account = read car()
database = read database ()

if account.get ('account'):




web3.personal.unlockAccount (account['account'],
account|['password'])

command = sys.argv/[l]

# US-022

if command == '—--new':
res = web3.eth.account.create ()
write car({'key': res.privateKey.hex () [2:]})
print (res.address)

# US-023
elif command == '--account':

print (web3.eth.account.privateKeyToAccount (bytes.fromhex (account['
key'])) .address)

# US-024
elif command == '--reg':
abi = compile() [0]['abi']

contract = web3.eth.contract (abi=abi,
address=database[ 'mgmtContract'])

acc =
web3.eth.account.privateKeyToAccount (bytes.fromhex (account['key']))
try:
tx = contract.functions.registerCar() \
.buildTransaction ({
'nonce': web3.eth.getTransactionCount (acc.address)

})

signed txn = web3.eth.account.signTransaction (tx,
private key=acc.privateKey)
web3.eth.sendRawTransaction (signed txn.rawTransaction)
tx hash = web3.toHex (web3.sha3 (signed txn.rawTransaction))
tx receipt = wait tx receipt(web3, tx hash)
if tx receipt['status'] == 1:
print ('Registered successfully')
else:
print ('Already registered')
except ValueError:
print ('Already registered')
elif command == '--verify':
mgmt, , battery mgmt = compile () [:3]

contract = web3.eth.contract (abi=mgmt['abi'],
address=database [ 'mgmtContract'])

battery contract = web3.eth.contract (abi=battery mgmt['abi'],
address=contract.functions.batteryManagement () .call())

res = subprocess.check output(['python', f'./{sys.argv[2]}', '--

get'])
_res = res.split()
n = int( res([0])
t = int(_res[1])
v = int( res[2])
r = bytes.fromhex( res[3].decode (encoding="utf-8"').zfill( )

0]

64)
= bytes.fromhex( res[4].decode(encoding="utf-8").z£fill (64))
status, addr = battery contract.functions.verifyBattery(n, t, v,
r, s).call()
if status ==



print ('Verified successfully.')
print (f'Total charges: {n}'")
id = contract.functions.vendorId(addr) .call ()
print (f'Vendor ID: {id.hex()}")
print (£"Vendor Name:
'{contract.functions.vendorNames (id) .call () .decode (encoding="utf-8"')}'"'")
elif status ==
print ('Verification failed. Probably the battery forged.')
else:
print ('Battery with the same status already replaced.
Probably the battery forged.')

elif command == 'owner':
mgmt, , battery mgmt = compile () [:3]

contract = web3.eth.contract (abi=mgmt['abi'],
address=database [ 'mgmtContract'])

battery contract = web3.eth.contract (abi=battery mgmt['abi'],
address=contract.functions.batteryManagement () .call())

acc =
web3.eth.account.privateKeyToAccount (bytes.fromhex (account['key']))

battery contract.functions.transfer () .buildTransaction ({
'chainId': 33,

})

3axaua db:

import json
import os

def write account (acc=None) :
if acc is None:
acc = {}
with open('./account.json', 'w') as outfile:
json.dump (acc, outfile)
return acc

def write scenter (acc=None):
if acc is None:
acc = {}
with open('./scenter.json', 'w') as outfile:
json.dump (acc, outfile)
return acc

def write car (acc=None) :
if acc is None:
acc = {}
with open('./car.json', 'w') as outfile:
json.dump (acc, outfile)
return acc

def write database (db=None) :



if db is None:
db = {}

with open('./database.json', 'w') as outfile:
json.dump (db, outfile)

return db

def read account():
if os.path.exists('./account.json'):
with open('./account.json') as file:
return json.load(file)
return {}

def read scenter():
if os.path.exists('./scenter.json'):
with open('./scenter.json') as file:
return json.load(file)
return {}

def read car():
if os.path.exists('./car.json'):
with open('./car.json') as file:
return json.load(file)
return {}

def read database():
if os.path.exists('./database.json'):
with open('./database.json') as file:
return json.load(file)
return {}

def create firmware (battery id, key):
if not os.path.exists('./firmware'):
os.mkdir('./firmware')
with open(f'./firmware/{battery id[:8]}.py', 'w') as outfile:
outfile.write(
flll
import json, os, time, sys
import eth account.account as eth account

_privkey = {key}

def charge () :
db file = file [:-2] + 'json'
if not os.path.exists(db file):
with open(db file, 'w') as outfile:
outfile.write('{chr(123)}"charges": 1{chr(125)}")
else:
with open(db file, 'r') as file:
data = json.load(file)
data['charges'] +=1
with open(db file, 'w') as file:
json.dump (data, file)

def get():
data = {chr(123)}'charges': 0{chr (125)}



db file = file [:-2] + 'Json'
if os.path.exists(db file):
with open(db file, 'r') as file:
data = json.load(file)

n = data['charges']

t = round(time.time())

signed = eth account.Account.sign(message=((n << 32) +
t) .to _bytes (32, byteorder='big'), private key= privkey)

return (n, t, signed['v'], hex(signed['r']) [2:1],
hex (signed['s']) [2:])

if sys.argv[l] == '--charge':
charge ()

elif sys.argv[l] == '--get':
n, t, v, r, s = get()

"')

3axaua Scenter:

from utils import compile, wait tx receipt

from web3 import Web3

import os

import sys

import time

from db import write account, write database, read account, read database,
read scenter, write scenter

from web3.middleware import geth poa middleware

import warnings

import subprocess

warnings.simplefilter ("ignore", category=DeprecationWarning)

web3 = Web3 ()
web3.middleware stack.inject (geth poa middleware, layer=0)

account = read scenter ()
database = read database()

if account.get ('account'):
web3.personal.unlockAccount (account['account'],
account|['password'])

command = sys.argv[l]

# US-020

if command == '—--new':
res = web3.personal.newAccount (sys.argv[2])
print (res)

write scenter ({'account': res, 'password': sys.argv[2]})
# US-021
elif command == '--reg':

abi = compile() [0]['abi']



contract = web3.eth.contract (abi=abi,
address=database [ 'mgmtContract'])

if not
contract.functions.serviceCenters (account['account']) .call():
tx hash =
contract.functions.registerServiceCenter () .transact ({'from':

account['account']})
tx receipt = wait tx receipt (web3, tx hash)
print ('Registered successfully')

else:
print ('Already registered')
elif command == '--verify':
mgmt, , battery mgmt = compile () [:3]

contract = web3.eth.contract (abi=mgmt['abi'],
address=database [ 'mgmtContract'])
battery contract = web3.eth.contract (abi=battery mgmt['abi'],

address=contract.functions.batteryManagement () .call())

res = subprocess.check output (['python', f'./{sys.argv[2]}', '--
get'])

_res = res.split()

n = int( res[0])

t = int( res[1])

v = int( _res[2])

r = bytes.fromhex( res[3].decode(encoding="utf-8").z£fill (64))

s = bytes.fromhex( res[4].decode(encoding="utf-8").z£fill (64))

status, addr = battery contract.functions.verifyBattery(n, t, v,
r, s).call()
if status ==
print ('Verified successfully.')
print (f'Total charges: {n}'")
id = contract.functions.vendorId(addr).call()
print (f'Vendor ID: {id.hex()}")
print (f"Vendor Name:
'{contract.functions.vendorNames (id) .call () .decode (encoding="'utf-8")}'")
elif status ==
print ('Verification failed. Probably the battery forged.')
else:
print ('Battery with the same status already replaced.
Probably the battery forged.')

3apava Setup:

from utils import compile, wait tx receipt

from web3 import Web3

import os

import sys

import time

from db import write account, write database, read account, read database
from web3.middleware import geth poa middleware

import warnings

warnings.simplefilter ("ignore", category=DeprecationWarning)

web3 = Web3 ()



web3.middleware stack.inject (geth poa middleware, layer=0)

account = read account ()
database = read database()

if account.get ('account'):
web3.personal.unlockAccount (account['account'],
account [ 'password'])

command = sys.argv[l]

# US-001

if command == '—--new':
res = web3.personal.newAccount (sys.argv[2])
print (res)

write account ({'account': res, 'password': sys.argv[2]})
# US-002
elif command == '--setup':

fee = web3.toWei (float(sys.argv([2]), 'ether')

compiled mgmt, compiled wallet, compiled bat, compiled erc =
compile ()

management contract = web3.eth.contract (abi=compiled mgmt['abi'],
bytecode=compiled mgmt|['bin'])

wallet contract = web3.eth.contract (abi=compiled wallet['abi'],
bytecode=compiled wallet['bin'])

battery contract = web3.eth.contract (abi=compiled bat['abi'],
bytecode=compiled bat['bin'])

erc_contract = web3.eth.contract (abi=compiled erc['abi'],
bytecode=compiled erc['bin'])

wallet contract address = wait tx receipt (web3,
wallet contract.deploy({'from': account['account']})) [

'contractAddress']
erc_contract address = wait tx receipt (web3,
erc_contract.deploy({'from': account['account']})) ['contractAddress']

management contract address = wait tx receipt(
web3,
management contract.deploy({'from': account['account']},
[wallet contract address, fee])
) ['contractAddress']

battery contract address = wait tx receipt (
web3,
battery contract.deploy ({'from': account['account']},
[management contract address, erc contract address])
) ['contractAddress']

tx hash =
management contract.functions.setBatteryManagementContract (battery contrac
t address) \
.transact ({'from': account|['account'], 'to':
management contract address})
wait tx receipt(web3, tx hash)

print (f'Management contract: {management contract address}')
print (f'Wallet contract: {wallet contract address}')
print (f'Currency contract: {erc contract address}')



write database ({'mgmtContract': management contract address})

# US-003

elif command == '--setfee':
fee = web3.toWei (float(sys.argv[2]), 'ether')
abi = compile() [0]['abi']

contract = web3.eth.contract (abi=abi,
address=database [ 'mgmtContract'])

try:
tx hash = contract.functions.setFee (fee) .transact ({
'from': account['account']

})

walt tx receipt (web3, tx hash)
print ('Updated successfully')
except ValueError:
print ('No permissions to change the service fee')

3amaua Utils:

from solc import compile files
import time

def compile():
compiled = compile files ([
'./contracts/ManagementContractInterface.sol’,
'./contracts/BatteryManagementInterface.sol',
'./contracts/ServiceProviderWallet.sol"',
'./contracts/ERC20TokenInterface.sol’
1)

compiled mgmt =
compiled['./contracts/ManagementContractInterface.sol:ManagementContractIn
terface']

compiled wallet =
compiled['./contracts/ServiceProviderWallet.sol:ServiceProviderWallet']

compiled bat =
compiled['./contracts/BatteryManagementInterface.sol:BatteryManagementInte
rface']

compiled erc =
compiled['./contracts/ERC20TokenInterface.sol:ERC20TokenInterface"']

return compiled mgmt, compiled wallet, compiled bat, compiled erc

def wait tx receipt(web3, tx hash, sleep interval=0.5):
while True:
tx receipt = web3.eth.getTransactionReceipt (tx hash)
if tx receipt:
return tx receipt
time.sleep(sleep interval)

def split(arr, size):
arrs = []



while len(arr) > size:

pice = arr[:size]
arrs.append (pice)
arr = arr[size:]

arrs.append(arr)
return arrs

3amaua Vendor:

from utils import compile, wait tx receipt, split

from web3 import Web3

import os

import sys

import time

from db import write account, write database, read account, read database,
create firmware

from web3.middleware import geth poa middleware

import warnings

warnings.simplefilter ("ignore", category=DeprecationWarning)

web3 = Web3 ()
web3.middleware stack.inject (geth poa middleware, layer=0)

account = read account ()
database = read database()

if account.get ('account'):
web3.personal.unlockAccount (account['account'],
account|['password'])

command = sys.argv/[l]

# US-005

if command == '—--new':
res = web3.personal.newAccount (sys.argv[2])
print (res)

write account ({'account': res, 'password': sys.argv[2]})
# US-006
elif command == '--regfee':

abi = compile() [0]['abi']

contract = web3.eth.contract (abi=abi,
address=database['mgmtContract'])

fee =
web3. fromWei (contract.functions.registrationDeposit().call(), "ether")

print (f'Vendor registration fee: {float("{:.6f}".format (fee))}")

# US-007 and US-008
elif command == '--reg':
abi = compile() [0]['abi']
value = web3.toWei (float(sys.argv[3]), 'ether')

contract = web3.eth.contract (abi=abi,
address=database['mgmtContract'])

fee = contract.functions.registrationDeposit () .call()

name = bytes(sys.argv[2], encoding='utf-8")



if value < fee:
print ('Failed. Payment is low.')

elif web3.eth.getBalance (account['account']) < value:
print ('Failed. No enough funds to deposit.')

elif contract.functions.isVendorNameTaken (name) .call () :
print ('Failed. The vendor name is not unique.')

elif
contract.functions.vendorAddressToExists (account['account']) .call():
print ('Failed. The vendor address already used.')
else:
tx hash = contract.functions.registerVendor (name) .transact (
{'"from': account['account'], 'value': wvalue})
tx receipt = wait tx receipt (web3, tx hash)
filter = web3.eth.filter ({
'address': database['mgmtContract'],
'fromBlock': tx receipt.blockNumber,
'toBlock': tx receipt.blockNumber,
'topics': [
web3.sha3 (text="'Vendor (address,bytes4) ') .hex ()
]
})
found log = web3.eth.getFilterLogs (filter.filter id) [0]
print ('Success."')
id = found log['data'][66:74]
print (f'Vendor ID: {id}"'")
# US-009
elif command == '--batfee':
abi = compile() [0]['abi']

contract = web3.eth.contract (abi=abi,
address=database[ 'mgmtContract'])

fee = contract.functions.batteryFee().call ({"from":
account["account"]})

print (f'Production fee per one battery: {web3.fromWei (fee,
"ether") } v )

# US-010,
elif command == '--bat':
num = int (sys.argv[2])
if len(sys.argv) ==
deposit = 0
else:
deposit = web3.toWei (float(sys.argv[3]), "ether")
abi = compile() [0]['abi']

contract = web3.eth.contract (abi=abi,
address=database['mgmtContract'])

ids = []
private keys = {}
for i in range (num) :
acc = web3.eth.account.create ()
ids += [bytes.fromhex (acc.address[2:])]
private keys[ids[i].hex ()] = acc.privateKey
max gas = web3.eth.getBlock('latest') ['gasLimit']
num_for tx = max gas // 70000



ids split = split(ids, num_ for tx)

tx list = []
logs = []
try:
for ids 1lst in ids_split:
tx hash =
contract.functions.registerBatteries(ids lst) .transact (
{'"from': account['account'], 'value':
deposit})
tx receipt = wait tx receipt (web3, tx hash)
vendor id =
contract.functions.vendorId (account['account']) .call () .hex ()
filter = web3.eth.filter ({
'address': database['mgmtContract'],
'fromBlock': tx receipt.blockNumber,
'toBlock': tx receipt.blockNumber,
'topics': [
web3.sha3 (text="NewBattery (bytes4d,bytes20) ") .hex (),

f'0x{vendor id}000000000000000000000000000000000000000000000000000
00000"
]
1)
found logs =
web3.eth.getFilterLogs (filter.filter id)
logs += found logs
deposit = 0

except ValueError:
print ('Failed. No enough funds to register object.')

else:
for log in logs:
addr = log["data"][2:42]
print (f'Created battery with ID: {addr}')
create firmware (addr, private keys[addr])
# US-012
elif command == '--deposit':
abi = compile() [0]['abi']

contract = web3.eth.contract (abi=abi,
address=database[ 'mgmtContract'])

if
contract.functions.vendorAddressToExists (account|['account']).call() :
print (f'Deposit:
{web3.fromWei (contract.functions.vendorDeposit (account ["account"]) .call(),
"ether")}"')
else:
print (f'Vendor account is not registered.')
elif command == '--owner':
mgmt, , battery mgmt = compile () [:3]

contract = web3.eth.contract (abi=mgmt['abi'],
address=database [ 'mgmtContract'])

battery contract = web3.eth.contract (abi=battery mgmt['abi'],
address=contract.functions.batteryManagement () .call())



try:
if '.'" in sys.argv[2] or len(sys.argv[2]) != 40:
lst = list (map(lambda x : bytes.fromhex(x[2:42]),
list (open(sys.argvi[2]))))
tx hash =
battery contract.functions.transfer(sys.argv[3], 1lst).transact(
{'"from': account['account']})
else:
tx hash =
battery contract.functions.transfer(sys.argv[3],
bytes.fromhex (sys.argv[2])) .transact (
{"from': account['account']})
walt tx receipt (web3, tx hash)
print ('Success')
except ValueError:
print ('Failed. Not allowed to change ownership.')

Mporpammbl ANA peLeHna NOAHON GUHANbHOW 3343a4M HeT.



